)

.ute‘_ss ;tu[né,;has;been allotted to read thsquespe
s 3561y wm!‘%&

111 not




nD :has 03 Long Answer type questwﬂé Jcarr}/zﬁg 05 mdrk eiidh

HAC

All programfning questzons are to be answered using Pythow Lan'"“

..........

T2 SECTION=A

.. . ¥ o o 4 A e o ;l.; [ =
: - (3 g :
3

& i mcorfalse:- | ‘ i prienroi; e
Immutable data types are those whose value cannot be changed M 23
Wthh of the followmg is an mutable datatype in Python'?
L Set | | . - G TR -k R
b. Dictionary : K Wiy =
ﬂlst ,A A
e d Complex ' L] L JE RS e

. 3, Consider the following list and predlct the output of the followmg |

statements:

A1 22 33, 44, 55] i
A=A[02]£[100] +AB] e
print(A) , i TRl

: Which of the followmg statements is correct for Vanable n;f nes i

A rvanable names must begm w1th an underscore



follcwmg Set 1to Set 2:-
Set 2

1) Move file pomter five characters b
- from the current position

11) Move file pointer to the end of a File.

(c) f.seek(0, 2) 111) Move file pointer five characters ahead from

current position " o} 2 %
(d) . seek(O) iv) Move file pointer to the beginning of a Flle

b- 111, c-ii}' d—‘ iv




0 -"Whlch command is used to change the definition of a table in SQL? i
a. CREATE i

B b UPDATE | ke il

\ﬁf/ ALTER Bl e
d. SELECT . Coe
~ 11. Which operator is used to compare the N ULL values in SQL7 e .
a. Equal _ ’
b. IN i

d. None of these
12. Find the cities name with the condition and temperature from table Whether

where condition = sunny or cloudy but temperature >= 60.
a. SELECT city, temperature, condition FROM weather WHERE condition
= 'cloudy' AND condition = 'sunny' OR temperature >= 60
b SELECTcity, temperature, condition FROM weather WHEREcondltlon
= cloudy OR condition = 'sunny' OR temperature >-— 60
SELECT city, temperature, condition FROM weather WHERE Condltlon

= 'sunny' OR condition = 'cloudy’ AND temperature >-- 60
d SELECT city, temperature, condition FROM weather WHERE con‘dltmn

~ ='sunny' AND condltlon = 'cloudy' AND temperature 2.5-[;? 6‘0-

What kind of transmission medium is most appropmate tq carry data m aj

, puter:network that is exposed to electrical 1nterf<¢:rien?g:t
e 55 Jw-q




. meetBEMI ik
- IPX/SPX

starts W1th p?
a. . SEEECT™ FROM student WHERE name LIKE '%p % /

b SELECT * FROM student WHERE name LIKE p%/; i
c. SELECT * FROM student WHERE name LIKE p% iy
4 SELECT * FROM student WHERE name LIKE '%p’; f
A6, pTo establish a connection between Python and SQL database, connect( ) o &
 used Which of the followmg arguments may not necessanly be given while :
calling connect( ) ? ’ e
a. Host

Matabase

..
il
R i

Q. 17 and 18 are ASSERTION AND REASONING based questzons. Mark th"’
correct choice as ',
(a) Both A and R are true and R is the correct explanatlon for A

(b) Both A and R are true and R is not the correct explanatlon for oo
(c) Ais True but R is False |
(d) A is false but R is True

{g . Assertion (A) : Tuples are immutable. This means We can not perfarm
fo . 1nsert delete, update operatlons on thepq;
(R) - Wecanuse tuples ina dlcnonary as a ke'y bec'l ‘

£

~ must be immutable data type i
We can open B,mary f11e in text ed1tor

hp‘ ‘,( 4”» ,‘m) e




- n = input("Enter number of entries")
while i<=n: | LA b NACISTT
i a = input(' Name ') R snshire MOSTAGOMGE S
s bt g s T et oo s ekl
idl(a)=b : AL : iR . - ptsteb A BaRtET
i=itl i il
1=dlkey()
fOfIinl: . ; et
print(L,'\ t'Ad1[i]") : o :
, ,,/0/ What is topology7 Write difference between ng and Star topology
i Write two points of dlfference between MAN and WAN G AN
Rl a Wr1te the output of followmg program R BB AL R0
'python rocks'
for ch in a[3:8]:
‘ print(Hello')
b erte the output of the code glven below




m ‘PréCth \the output of the Python code glven below :
tuple =[1,2,3,4]

tuple.append( (5, 6, )

print(len(tuple))

OR

Predict the output of the Python code given below :
dictionary = {"peek":10, "for":45, "peeks": 90}

print("peek” in dictionary) wriny
25. Whatis the basic d1fference between DDL and DML commands7 Give one

example of each |
e

Write difference between where and having clause with example
SECTION - C

26. Consider the following tables SCHOOL and ADMIN.
Give the output the following SQL queries

TABLE : SCHOOL _
CODE TEACHER SUBJECT DOJ PERIODS | EXPERIENCE
1001 | RAVISHANKAR | ENGLISH |12/03/2000| | 24 10
1009 | PRIYA RAI PHYSICS | 03/09/1998 | = 26 12
1203 | LISANAND | ENGLISH |09/04/2000| @ 27 5
1045 YASHRA] MATHS | 24/08/2000| , 24 15
1123 GANAN, PHYSICS _|16/07/1999| 28
1167 | HARISHB | CHEMISTRY |19/10/1999| 27 |
1215 UMESH PHYSICS |11/05/1998 22 16,
TABLE : ADMIN )
Z CODE | GENDER DESIGNATION
1001 | MALE | VICE PRINCIPAL
1009 | FEMALE| COORDINATOR
1203 | FEMALE| COORDINATOR
1085 1] MALE. | | cHORe | s
1123 | MALE | SENIOR TEACHER
167 | MALE | SENIOR TEACHER | -
| 1215 || MALE | HOD- - -|-

v




)E‘RBY TEACHER

Wnte amethod Method1( ) to create a te;tt f1le ”MyFlle txt" 1

ask the user to Wnte separate 3 lines with three mput statements fr om fthe e

user.

Write a method MethodZ( ) to Count the total number of upper cﬂase, lower j
case, and digits used in the text file "employee.txt'. sl

OR

pAlap e ,(";9:[]1 *(} 78

in python aﬂd

~thantl

O )n,pf

28. a. Find outputs for SQL queries (i) to (iv), which are based on the t»abl.ef.\
TRANSPORT and TRIP i ‘ > FAEV
TABLE: TRANSPORT

Note

TCODE TTYPE PERKM:
103 | ORDINARY.BUS| 90 |
105 SUV. LA |
104 CAR =
103 | ORDINARY BUS| 90
101 VOLVO BUS - | - 160
102 | ACDELUXBUS| 14 | ©

PERKS is Fre1ght Charages per kllometer | A
TTYPE is Transport. Ve"hrcle Type :

FYREN A ]
Sy 2l h' \ i P
J
I
; :
1}
E3. s - £ o
L i & g By
?j Y S\"i *' o
1

8
3
10
i
{ "J,
{ | '
il
8

or TABLE : TRIP
NO| NAME | TDA’T};@ - KM ;3" TCC»DE ‘
Tanish Khan | 2015:12:13 | .zo

'Danish Sahai

zemﬁm

f;-

«;\

100; »C.'f\’ L 63‘“"" . :‘ )

l!“lr )

Al 5 82
|
4

.,éli?mﬁ’ﬁimﬁl@” | B0

I §§Qxl

flf‘iiifllu‘), ,,,]‘.'_,J-l: A




IsL -“Numbe
e KM is Kllometer tragelléac Toge o
"’Sb’fﬁm“" N‘@P is number of &a%mfs' ‘aﬁfemeéfi- b

WJW BEY TDATE 1&”1"1‘&) bafé i dypiote orld i aghevons bfgﬁ H@fa D
17SELECT COUN ’(*)"TC@EE‘P‘rom TRIP D16 et giqmmmr SIS

'~ GROUP BY TCODE HAVNING count ey s stron s sved \[art"f’ ank
2. SELECT DISTINCT TCODE from TRIP; sy o Boghlii
J“SELECTATCODE NAME, TTYPE R e f; _y
" FROM TRIP A, TRANSPORTB coldorg \ gopest Hiwal) 1ol 7;;[;33_';'_
WHERE A. TCODE B TCODE AND KM <i90; raswiad ohae e gm;"?;
4. SELECT NAME, KM *PERKM e 2
FROM TRIP A, TRANSPORT B e
WHERE A. TCODE = B. TCODE AND A. TCODE = 105,, W

b. Write the command to delete database Employee.

29. Write a Python script to concatenate following dictionaries to create a

new one. fiste zb es’r‘foz‘fa’
Sample Dictionary : v T i
dicl = {1:10, 2:20} i " N A
dic2 = {3:30, 440} T HOTY QT Gdonse
dic3 = {5:50,6:60} S o7 FDAKIY
Expected Result : {1:10,2: 20 3:30,4:40,5: 50 6 60}

Write a function in Python Push(Arr) where Arr is a hsb quurhbers Frr'j"



'vﬂlages as given. ' s i

~ As a network consultant, you have to suggest the best networ%.
solutlon for thewir issues/ problems raised in (i) and (iv) keepmgm mmd
the dlstance between various locatwns and given parameters 2T

| XCITY | OO YHEBINM AV TOE e
NS 3 A 2 : " i
Head Office | s : I 29 Py, :

{

Shortest distance between various locations : : LSRG O f
VILLAGE1ITOYTOWN | 2KM el i
VILLAGE 2 TO YTOWN | 12KM
VILLAGE 3 TO YTOWN 3 KM [Ohik ik
VILLAGE 1 TOVILLAGE2 | 35KM o - Sk
VILLAGE1TO VILLAGE3 | 45KM: |& |
S rerpe———e AT D
d bn m,ﬂQZITYg«Head Office to YHUB. 30 K e o 1 : g




32.

Note:
e In Villages, there are community centres, in which one room has been
given as training center to this organization to install computers. I

e The organization has got financial support from the government and

top IT companies. ,
1. Suggestthe most appropriate location of the SERVER in the YHUB

(out of the 4 Jocations), to get the best and effective connectivity.
Justify your answer.

2. Suggest the best wired medium and draw the cable layout (locatibn '
to location) to efficiently connect various locations within the YHUB.

3 Which hardware device will you suggest to connect all the
computers within each location of YHUB?

4. Which server/protocol will be most helpful to conduct live
interaction of Experts from Head office and people at YHUB

locations?
5. Which hardware device will you suggestto speedup communication

among computers’?

The code given below inserts the following record in the table |
customer_details (acct_noint , acct_name string ,phone_noint, address

gtring, cr_amtint)

‘Note the following to establish connectivity between Python and MYSQL.:

e ' Username is root

e Password is root

o The table exists ina MYSQL database named Bank |

o The details (acct_no, acct_names, phone_no, address, cr_amt) are to be
| apcepted from the user. i o '

Write the following missing statements to complete the code :

Statement 1 - to form the cursor object .
Statement 2 - to execute the command that inserts the record in the table

\ v
customer_details.

+

11




= ‘mput(‘Enter Name')
s int(input('Enter Phone No'))
a‘ddress = input('Enter Address)
cr amt = int(ihput('Enter amount=")) . =
Queryl‘— linsert'into customer_details values . SE
Y 0, {} ")) format(acc_no, acc_name, ph no, ,a.ddres;s,.cr a:mt)
- # Statement 2

# Statement 3

prmt("Data Added successfully")
OR

" The code glven below takes input of account no from user and reads the

record from the table named customer_ deta1ls and. d1sp1ays the complete

AL W %
@A

record of account holder 160 e LEBR R RN olsd Aok BbEN ST S8

e 5

Table & its columns - " customer_details (acct anmt }as:sctraname strmg, ,

. Rhone.no int, address string, cr _amtint) il sl

‘v, x.»‘,-

Note the followmg to estabhsh*connectlwty beUNeemP(yaﬁhog. @nd,MYSQL
e Username is root : |
Password is root iy
.The table ex1sfs :

:\j_ P *fa 5«};: 7r l,,. »
| erte the foilowmg missi




z-a“ilmport mysql connector R
conn = mysgql.connector. connect(host = 'localhost' user = ; fc;o;c'
paSSWd" 'root', database = 'bank') o ! , :
cur=_____ #Statement1 o S D

~acct_no= int(input('Enter Account Number = '))
'Query1 = "select * from customer_details where acct no="'" +

str(acct_no) )

ESN R o REEEION 5= ¢

# Statement 2
data=____  #Statement3

count = cur.rowcount

& ‘ if count == 0: '
1 print('Account Number Invalid. Sorry Try Again') -
else: |

for row in data:
3 print(ACCOUNT NO =, acct_no)
: print ACCOUNT NAME =, row([1]) ‘ .
print(PHONE NUMBER =', row{2)) E
print( ADDRESS =, row[3]) | o
2 | print(‘cr_amt=', row[4])
33,5 Snshtl is a class 12 Computer Science student. She has Abeen




e *izﬁﬁa

JHOpoIt | (AStatementl, o | sl e

fn= open( o #Stat“'x‘fieﬁf

| sy, el Rnu A "’#St tement-3
~ fno. wrlterow(["bookld" "subject", "class"])
fno erterow(["bl" Eindi?, WV

' fno.w’riterow(["bZ", "S'Cience",' "VII“])
 fno.writerow(["b3", "Math", "VI'])

f i ’ #Statement-4
_0pen("book.csx_?","f") asfn:  #Statement-5
vd—jesyi i #Statement-6
forrecinrd:

print(reé)

fn.close()
i m;

LA’A

rYEY

1. Choose the correct code for Statementl 24 f‘

sy




b read(book)
- ¢ writer(fn)
d wnte(fn)

’dump
close()
exit()
end( )
‘Choose the correct code for Statement 5
fn =
with
With
as
Choose the correct code for Statement.

a. readlines(fn)
read(fn)

b
c. readrows()
d. reader(fn)

SECTION -E




16T D00
# statement 1
print(data) “ '
f1.close()
sports_read() . | " ’
b. Improve above code and write the correct code to dﬁpla ' a,ll;,l‘ec@rds
fromithefileds e i

F A A AT i k '.x.«vv.r“vv,d."
ji ot BN AT R B i AN A% %J':;;-K:;:ﬁﬁb ok

5 Ce-1 1 4 H RS N
2 iE bﬂﬁq@b ARAETE
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